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PAIR OF LINEAR EQUTIONS IN TWO
VARIABLES

Stand Alone Mcqgs

1. Graphically, the pair of equations

6z — 3y + 10 = 0


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_CA4ngreCysp7

2e —y+9=20

represents two lines which are

A. intersecting at exactly one point

B. intersecting at exactly two point

C. coincident

D. parallel

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_CA4ngreCysp7

2. The pair of equations  + 2y + 5 = 0 and
—3xz —6y+ 1 = 0has

A. a unique solution

B. exactly two solutions

C. infinitely many solutions

D. no solution

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_AWtNPv6fuVrb
https://dl.doubtnut.com/l/_GCIOejQg5K7t

3. If a pair of linear equations is consistent,

then the lines will be

A. parallel

B. always coincident

C. intersecting or coincident

D. always intersecting

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_GCIOejQg5K7t

4. The pair of equations * =a and y=1>

graphically represents lines which are

A. parallel

B. intersecting at (b,a)

C. coincident

D. intersecting at (a,b)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_XOgCsPpwmB1K
https://dl.doubtnut.com/l/_lUnTe9GIk3nU

5. The pair of equations y=0and y= — 7

has

A. one solution

B. two solutions

C. infinitely many solutions

D. no solution

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_lUnTe9GIk3nU

6. For what value of k, do the equations
3z —y+8=0 and 6r — ky = — 16

represent coincident lines ?

Al
2

B—l
-2

C.2

D.—2

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ayYoP5mtfCRW

7. If the lines given by 3x + 2ky = 2 and

2z + 5y = 1 are parallel, then the value of k is

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Yp3zPvPqAhTM
https://dl.doubtnut.com/l/_wTQhoO95wUcl

8. The value of c for which the pair of

equations cx —y = 2 and 6x — 2y = 3 will

have infinitely many solutions is

A3

B.—3

C.—12

D. no value

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_wTQhoO95wUcl
https://dl.doubtnut.com/l/_6QMYucrD3ic3

9. A pair of linear equations which has a

unique solution x=2andy=-3 is

z+y= —1
2¢ — 3y = — 5
2z + 5y = — 11
4r + 10y = — 22
2r —y =1

3z + 2y =20
xr—4y—14 =0
br —y—13 =10

Answer: B::D

o Watch Video Solution



https://dl.doubtnut.com/l/_6QMYucrD3ic3

10. If x = a and y = b is the solution of the

equations x -y =2 and x + y = 4 , then the

values of a and b are, respectively

A.3and 5

B.5and 3

C.3and 1

D.—1and3

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_HbDzpVFgUJIZ

11. Aruna has only Rs. 1 and Rs. 2 coins with
her. If the total number of coins that she has is
50 and the amount of money with her is Rs. 75,
then the number of Rs. 1 and Rs. 2 coins are,
respectively

A.35nd 15

B.35 and 20

C.15 and 35

D. 25 and 25

Answer: D


https://dl.doubtnut.com/l/_pEqFIHrVG2rF

° Watch Video Solution

12. The father's age is six times his son's age.
Four years hence, the age of the father will be
four times his son's age. The present ages (in
year) of the son and the father are,

respectively

A.4 and 24

B.5and 30

C.6and 36


https://dl.doubtnut.com/l/_pEqFIHrVG2rF
https://dl.doubtnut.com/l/_6mv1ddMjoglh

D.3 and 24

Answer: C

° Watch Video Solution

13. 8 chairs and 5 tables for a classroom cost
Rs.10500, while 5 chairs and 3 tables cost Rs.
6450. Find the cost of each chair and that of

each table.

A. Rs. 750


https://dl.doubtnut.com/l/_6mv1ddMjoglh
https://dl.doubtnut.com/l/_P5zzVPoqYwH3

B. Rs. 600

C. Rs. 900

D. None of these

Answer: A

o Watch Video Solution

14.In a APQR, Let ZPQR = 30° and the
sides PQ and QR have lengths 10,/3 and 10,
respectively. Then, which of the following

statement(s) is (are) TRUE


https://dl.doubtnut.com/l/_P5zzVPoqYwH3
https://dl.doubtnut.com/l/_by8BGcg5ubKF

A. 30°

B.60°

C.40°

D. 80°

Answer: C

o Watch Video Solution

15. The sum of two numbers is 1000 and the
difference between their squares is 256000.

Find the numbers.


https://dl.doubtnut.com/l/_by8BGcg5ubKF
https://dl.doubtnut.com/l/_HK5fPOI2FzNS

A.372

B.700

C. 628

D. 640

Answer: C

o Watch Video Solution

16. The larger of the two supplementary angles

exceeds the smaller by 20°. Find smaller angle.


https://dl.doubtnut.com/l/_HK5fPOI2FzNS
https://dl.doubtnut.com/l/_emY6po1LP0r8

A. 80°

B.100°

C.90°

D.70°

Answer: A

° Watch Video Solution

Assertion And Reason Based Mcqs


https://dl.doubtnut.com/l/_emY6po1LP0r8

1. Assertion (A) :Pair of linear equations
9r +3y+12=0 and 18z + 6y + 24 =0
have infinitely many solutions

Reason (R ) : Pair of linear equations

a1z +biy+c; =0 and asx + by +cy =0

have infinitely many  solutions if
a by G
az by C2

A.Both A and R are true and R is the

correct explanation for A.


https://dl.doubtnut.com/l/_SfsICJcZfXSu

B.Both A and R are true and R is not

correct explanation for A.

C.Ais true but R is false

D. Ais false but R is true

Answer: A

o Watch Video Solution

2. Find the number of solutions a pair of linear

equation (4x-9y+13=0 and 2x+3y-13=0) have.


https://dl.doubtnut.com/l/_SfsICJcZfXSu
https://dl.doubtnut.com/l/_ZUheEBj9iYwC

A.Both A and R are true and R is the

correct explanation for A.

B.Both A and R are true and R is not

correct explanation for A.

C.Ais true but R is false

D. Ais false but R is true

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ZUheEBj9iYwC

3. Assertion (A) : £ =3 and y=1 is the
solution for the lines =z 4+ 5y =3 and
r—y=1

Reason (R ) : The point of intersection of two
lines in a graph is the common solution for

both the lines represented by the equations.

A.Both A and R are true and R is the

correct explanation for A.

B.Both A and R are true and R is not

correct explanation for A.


https://dl.doubtnut.com/l/_exOMe5u9Q7xu

C.Ais true but R is false

D. A is false but R is true

Answer: D

o Watch Video Solution

4. Assertion (A) : The lines 2x — 5y = 7 and
6z — 15y = 8 are parallel lines.
Reason (R ) : Pair of linear equations

a1z +biy+c, =0 and asx + by +cy =0


https://dl.doubtnut.com/l/_exOMe5u9Q7xu
https://dl.doubtnut.com/l/_p3Wg7T7WIdTu

have infinitely many  solutions if
ay by O
as by C2
A.Both A and R are true and R is the
correct explanation for A.
B.Both A and R are true and R is not
correct explanation for A.

C.Ais true but R is false

D. Ais false but R is true

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_p3Wg7T7WIdTu

5. The ratio of incomes of two person is 8 : 5
and the ratio of their expenditure is 2 : 1. If
each of them manages to save ? 1000 per
month , find the difference of their month

income.

A.Both A and R are true and R is the

correct explanation for A.

B.Both A and R are true and R is not

correct explanation for A.


https://dl.doubtnut.com/l/_p3Wg7T7WIdTu
https://dl.doubtnut.com/l/_fG5jwxflbQWz

C.Ais true but R is false

D. A is false but R is true

Answer: B

o Watch Video Solution

6. Assertion (A) : The value of g= £ 2, if
x =3, y=1 is the solution of the line
2z +y—¢q¢° — 3 =0.

Reason (R ): The solution of the line will satisfy

the equation of the line.


https://dl.doubtnut.com/l/_fG5jwxflbQWz
https://dl.doubtnut.com/l/_W6jmpB2c2wws

A.Both A and R are true and R is the

correct explanation for A.

B.Both A and R are true and R is not

correct explanation for A.

C.Ais true but R is false

D. Ais false but R is true

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_W6jmpB2c2wws

7. A part of monthly hostel charges is fixed and
the remaining depends on the number of days
one has taken food in the mess. When a
student A takes food for 20 days she has to
pay 1000 as hostel charges whereas a student
who takes B food for 26 days, pays 1180 as
hostel charges. Find the fixed charges and the

cost of food per day.

A.Both A and R are true and R is the

correct explanation for A.


https://dl.doubtnut.com/l/_QrazAyplT4Gn

B.Both A and R are true and R is not

correct explanation for A.

C.Ais true but R is false

D. Ais false but R is true

Answer: A

o Watch Video Solution

8. Assertion : For the given figure,,z +y = 14

andz —y = 30


https://dl.doubtnut.com/l/_QrazAyplT4Gn
https://dl.doubtnut.com/l/_EA8rlbH9ccKw

I+!|I'

X=y 14 cm

30 cm

Reason : Opposite sides of the rectangle are

equal.

A.Both A and R are true and R is the

correct explanation for A.

B.Both A and R are true and R is not

correct explanation for A.

C.Ais true but R is false


https://dl.doubtnut.com/l/_EA8rlbH9ccKw

D. Ais false but R is true

Answer: D

o Watch Video Solution

Case Based Mcqgs

1. A sailor in river takes a boat from place A to
place B, and returns to A. place A and B are 21
km apart. And he takes 10 hours to go and

return. The time taken by the boat to row 7 km


https://dl.doubtnut.com/l/_EA8rlbH9ccKw
https://dl.doubtnut.com/l/_Sn19PYbLqGyY

downstream is equal to the time taken by the
boat to row 3 km upstream. Then what is the

speed of the current?

A (z +ykm/h
B.(x —y)km /h
C.xykm /h

D. Zkm /h
y

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Sn19PYbLqGyY
https://dl.doubtnut.com/l/_twWu9rGt8KH0

2. To attend an exam Sudhir reached the
school by travelling 5 km towards south and
after a sharp left turn he travelled for about 10
km . He again made a sharp left turn and
reached in front of the school by travelling 5
km more which direction is Sudhir's starting

point from the school ?

A (z +ykm/h
B.(x — y)km /h
C.xykm /h

D. Zkm /h
y


https://dl.doubtnut.com/l/_twWu9rGt8KH0

Answer: B

o Watch Video Solution

3. A sailor in river takes a boat from place A to
place B, and returns to A. place A and B are 21
km apart. And he takes 10 hours to go and
return. The time taken by the boat to row 7 km
downstream is equal to the time taken by the
boat to row 3 km upstream. Then what is the

speed of the current?


https://dl.doubtnut.com/l/_twWu9rGt8KH0
https://dl.doubtnut.com/l/_TycfB8KC9CcA

A.5km/h

B. 2 km/h

C.7 km/h

D. none of these

Answer: A

o Watch Video Solution

4. To attend an exam Sudhir reached the
school by travelling 5 km towards south and

after a sharp left turn he travelled for about 10


https://dl.doubtnut.com/l/_TycfB8KC9CcA
https://dl.doubtnut.com/l/_qGvnkW4FVlMC

km . He again made a sharp left turn and

reached in front of the school by travelling 5

km more which direction is Sudhir's starting

point from the school ?

A.5km/h

B. 2 km/h

C.7 km/h

D. none of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_qGvnkW4FVlMC

5. To attend an exam Sudhir reached the
school by travelling 5 km towards south and
after a sharp left turn he travelled for about 10
km . He again made a sharp left turn and
reached in front of the school by travelling 5
km more which direction is Sudhir's starting

point from the school ?

A.5km/h

B.4 km/h

C.3 km/h


https://dl.doubtnut.com/l/_qGvnkW4FVlMC
https://dl.doubtnut.com/l/_AAA5WRJPsjdw

D. none of these

Answer: C

o Watch Video Solution

6. 8% of the voters in an election did not cast
their votes. In this election, there were only
two candidates. The winner by ob taining 48%
of the total votes de feated his contestant by
1100 votes. The total number of vot ers in the

election was:


https://dl.doubtnut.com/l/_AAA5WRJPsjdw
https://dl.doubtnut.com/l/_dXFfrFhIf8jL

A. 18000 — zy

B.18000 + = — y

C.18000 — =z — y

D. none of these

Answer: C

o Watch Video Solution

7. 8% of the voters in an election did not cast
their votes. In this election, there were only

two candidates. The winner by obtaining 48%


https://dl.doubtnut.com/l/_dXFfrFhIf8jL
https://dl.doubtnut.com/l/_fkctSbwTGR5j

of the total votes defeated his contestant by

1100 votes. The total number of voters in the

election was:

A. 8000

B. 6000

C. 5400

D. 12000

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_fkctSbwTGR5j
https://dl.doubtnut.com/l/_Zbnz5EC4kLCz

8. Equal masses of two samples of charcoal
A and B are burnt separately and the
resulting carbon dioxide are collected in two
vessels. The radioactivity of =~ 14C s
measured for both the gas samples. The gas
from the charcoal A gives 2100counts per
week and the gas from the charcoal A gives
2100 counts per week and the gas from the
charcoal B gives 1400 counts per week. Find

the age difference between the two samples.

Half-life of =~ 14C = 5730y.

A. 8000


https://dl.doubtnut.com/l/_Zbnz5EC4kLCz

B. 6000

C. 5400

D. 12000

Answer: B

o Watch Video Solution

9. The pie chart, given here, represents the
number of valid votes obtained by four
students who contested election for school

leadership. The total number of valid votes


https://dl.doubtnut.com/l/_Zbnz5EC4kLCz
https://dl.doubtnut.com/l/_fmtm5qMerDYC

polled was 720.
Observe the chart and answer the questions

based on it.

By how many votes did the winner defeat his

nearest rival ?

A. 8000

B. 6000


https://dl.doubtnut.com/l/_fmtm5qMerDYC

C. 5400

D. 14000

Answer: D

° Watch Video Solution

10.1fbx — 3 =22 — 9;thenz = ?

° Watch Video Solution



https://dl.doubtnut.com/l/_fmtm5qMerDYC
https://dl.doubtnut.com/l/_x8Yk5jTq93aT

11. Amit is buying house and its layout is given
below. The design and the measurement has
been made such that areas of two bedrooms

and kitched together is 95 sq.m.
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Which of the following equations represents

above situation ?

A2r+y=19z +y =13


https://dl.doubtnut.com/l/_ZJR2ja75xZ7V

B.2z —y =19,z —y =13

C2x+y=19,x —y =13

D.2z —y =19,z +y = 13

Answer: A

o Watch Video Solution

12. Amit is planning to buy a house and the
layout is given below. The design and the
measurement has been made such that areas

of two bedrooms and kitchen together is 95


https://dl.doubtnut.com/l/_ZJR2ja75xZ7V
https://dl.doubtnut.com/l/_DM78LZPBB98L

sg.m.

X » 2 y
5 I Bath
2m
Living Room
5m Bedroom 2

15 m

Based on the above information, answer the

following questions:

Find the area of each bedroom and kitchen in

the layout.

A.30 sgq.m, 45 sgq.m

B.30 sq.m, 35 sgq.m

C. 50 sgq.m, 35 sgq.m


https://dl.doubtnut.com/l/_DM78LZPBB98L

D. 30 sg.m, 55 sgq.m

Answer: B

° Watch Video Solution

13. Amit is buying house and its layout is given
below. The design and the measurement has
been made such that areas of two bedrooms

and kitched together is 95 sq.m.


https://dl.doubtnut.com/l/_DM78LZPBB98L
https://dl.doubtnut.com/l/_HmpvlfGx8gbS
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Find the length of outer boundary of the

layout.

A. 100m
B. 50m
C.65m

D. 54m

Answer: D


https://dl.doubtnut.com/l/_HmpvlfGx8gbS

O Watch Video Solution

14. Amit is planning to buy a house and the
layout is given below. The design and the
measurement has been made such that areas

of two bedrooms and kitchen together is 95

sg.m.
X s 2 o+t Yy
! Bath
SmI Bedroom 1  |room Kitchen
2m
Living Room
BmI
I Bedroom 2

'15 m

Based on the above information, answer the


https://dl.doubtnut.com/l/_HmpvlfGx8gbS
https://dl.doubtnut.com/l/_SURPJiHX83P3

following questions:

Find the area of living room in the layout.

A.75sg.m

B. 60 sgq.m

C.85sg.m

D. 100 sq.m

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_SURPJiHX83P3

15. Amit is planning to buy a house and the
layout is given below. The design and the
measurement has been made such that areas

of two bedrooms and kitchen together is 95

Sq m.
| 'S » 2 « Yy «
: I Bath
2m
I Living Room
5 mI Bedroom 2
' 15m

Based on the above information, answer the

following questions:


https://dl.doubtnut.com/l/_0vbLBHt90RZH

Find the cost of laying tiles in kitchen at the

rate of Rs. 50 per sq.m

A. 1500 Rs.

B. 1750 Rs.

C. 1450 Rs.

D. 1200Rs.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_0vbLBHt90RZH

